TGT Social Studies

Q 1). In June 2025, at which of the following places Shri Amit Shah has inaugurated the
National Turmeric Board headquarters?

(A) Nizamabad, Telangana

(B) Meerut, Uttar Pradesh

(C) Indore, Madhya Pradesh

(D) Raipur, Chhattisgarh

Correct Answer: (A)

Q 2). The World Health Organization (WHO) has recently praised India for

(A) Launching the first AI-Powered vaccine distribution network.

(B) Creating a global database of all herbal medicines used in India.

(C) Using Artificial Intelligence (Al) to modernize traditional medicine.

(D) Implementing nationwide Al automated hospital administration.

Correct Answer: (C)

Q 3). The World Games 2025 took place in which country in August 2025?

(A) India

(B) China

(C) Brazil

(D) USA

Correct Answer: (B)

Q 4). PPT with pictures and description is which type of teaching aid?

(A) Audio

(B) Visual

(C) Audio-Visual

(D)Non-Projected

Correct Answer: (B)

Q 5). Which of the following is an example of positive reinforcement as per child
psychology?

(A) Giving a child a time-out for misbehavior

(B) Praising a child for completing homework

(C) Removing TV privileges for poor grades

(D) Ignoring a child's tantrum

Correct Answer: (B)

Q 6). As per NEP 2020, what is the proposed bagless period for students in Grades 6-8 in a
year?

(A) 5 days

(B) 10 days

(C) 15 days

(D) 20 days

Correct Answer: (B)
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Q 7). Which of the following earliest cities had elaborate store houses?
(A) Harappa, Kalibangan and Lothal
(B) Mohenjo-Daro, Harappa and Lothal
(C) Surkotada, Harappa and Lothal
(D) Mohenjo-Daro, Harappa and Kalibangan
Correct Answer: (B)
Q 8). Which amongst the following are the saints of Maharashtra?
(A) Namdev, Ramanuja, Eknath and Shankara
(B) Namdev, Basavanna, Eknath and Tukaram
(C) Shankara Namdev, Eknath and Basavanna
(D) Janeshwar, Namdev, Eknath and Tukaram
Correct Answer: (D)
Q 9). Match the following List I with List II.
List I (People/Parties/Terms) List IT (Country or Fact)

a. Legal Framework Order I. Pakistan

b. National People’s Congress II. China

c. Institutional Revolutionary Party | III. Mexico
(A) a—1, b-II, 111
(B) a—IL, b1, c-1V
(C) a1V, b1, c-II
(D) a—III, b-1V, c-1
Correct Answer: (A)
Q 10). The position when neither of the poles is tilted towards the sun and the whole Earth

experiences equal days and equal nights is called

(A) Equinox

(B) Leap Year

(C) Revolution

(D) Orbital Plane

Correct Answer: (A)

Q I1). In the question below, there are two statements marked as Assertion (A) and Reason
(R). Read the both statements carefully and choose the correct option.

Assertion (A): There are four Vedas- Rigveda, Samaveda, Yajurveda and Atharvaveda. The
oldest veda is the Rigveda, which is composed about 3500 years ago.

Reason (R): It contains about Hundred Hymns and was prepared in Vedic Sanskrit language.

(A) Both (A) and (R) are true and (R) is the correct explanation of (A).

(B) Both (A) and (R) are true, but (R) is not the correct explanation of (A).

(C) (A) is true, but (R) is false

(D) (A) is false, but (R) is true.

Correct Answer: (C)
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Q 12). The existence of more than one level of government in the country is referred as which
of the following?

(A) Princely

(B) Dictatorship

(C) Federalism

(D) Communism

Correct Answer: (C)

Q 13). In the northern part of the country, the village headman was known as the

(A) Gram Panchayat

(B) Gram Bhojaka

(C) Sarpanch

(D) Patwari

Correct Answer: (B)

Q 14). The star which indicates the north is called

(A) North Pole

(B) Pole Star

(C) South Pole

(D) East Pole

Correct Answer: (B)

Q 15). In the question below, there are two statements marked as Assertion (A) and Reason
(R). Read the both statements carefully and choose the correct option.

Assertion (A): In ancient India, along with the sophisticated hydraulic structures, there
existed an extraordinary tradition of water-harvesting system.

Reason (R): Rainwater, or palar pani, as commonly referred to in these parts, is

considered the purest form of natural water.

(A) Both (A) and (R) are true and (R) is the correct explanation of (A).

(B) Both (A) and (R) are true, but (R) is not the correct explanation of (A).

(C) (A) is true, but (R) is false.

(D) (A) 1s false, but (R) is true.

Correct Answer: (A)

Q 16). US entered into World War II due to which of the following?

(A) Annexation of Poland by Germany

(B) Aerial bombing on London

(C) Japanese attack on Pearl Harbour

(D) Non-payment of reparation dues by Germans

Correct Answer: (C)

Q 17). In which Indian state would you predominantly find "Arid Soil" characterized by its
sandy texture, low organic matter content, and presence in regions with low rainfall and
high temperatures?

(A) Kerala

(B) Rajasthan

(C) Assam

(D) Odisha

Correct Answer: (B)
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Q 18). Cinchona trees are found in the areas of rainfall more than

(A) 100 cm

(B) 70 cm

(C) 50 cm

(D) less than 50 cm

Correct Answer: (A)

Q 19). The "Tennis Court Oath" taken by the members of the Third Estate during the French
Revolution was significant because:

(A) It declared the abolishment of the monarchy.

(B) It established the principles of liberty, equality, and fraternity.

(C) It formed the Committee of Public Safety.

(D) It pledged to draft a new constitution for France.

Correct Answer: (D)

Q 20). Read the following paragraph and answer the following question.
‘It is said of “passive resistance” that it is the weapon of the weak, but the power which is

the subject of this article can be used only by the strong. This power is not passive resistance;

indeed it calls for intense activity. The movement in South Africa was not passive but active

Satyagraha is not physical force. A satyagraha does not inflict pain on the adversary; he
does not seek his destruction ... In the use of satyagraha, there is no ill-will whatever.
‘Satyagraha is pure soul-force. Truth is the very substance of the soul. That is why this
force is called satyagraha. The soul is informed with knowledge.
In it burns the flame of love. ... Nonviolence is the supreme dharma ‘It is certain that India
cannot rival Britain or Europe in force of arms. The
British worship the war-god and they can all of them become, as they are becoming, bearers
of arms. The hundreds of millions in India can never carry arms. They have made the religion
of non-violence their own.
Whose words are given above?
(A) Jawaharlal Nehru
(B) Ambedkar
(C) CR Das
(D) Gandhiji
Correct Answer: (D)
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